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Candidates must write the Code on the
title page of the answer-book.
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o Please check that this question paper contains 8 printed pages + 2 Maps.

o Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

o Please check that this question paper contains 30 questions.

o Please write down the Serial Number of the question before attempting
it.

o 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book

during this period.
Henfeta gdter - I1
SUMMATIVE ASSESSMENT -11
eI ECRCEIE
SOCIAL SCIENCE
freiiRa a3 : 3 52 3IYFHTH 37F : 90
Time allowed : 3 hours Maximum Marks : 90
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QAT 397 :
() FTTHT-TT H FT30 9781 T 797 3frard &1
(i) FF 97 & 3% 3% GrE T 7T &

(iii) F99 G&I 1 G 8 TF 37T -39 J99 81 Foioh F97 1 37 H1 &

(iv) F57 &I 9 T 20 TF TIF F97 3 37 H1 &1 579 T Feddh F97 &7 IR 80 V5] T e
&7 el &Il FMeT |

() T GEI21T 28 T TodF G975 37h FT &1 579 G Jedeh F97 7 SR 100 V=3I T 371
&7 &1 &I Teq |

(vi) T¥T TEIT 29 3R 30 SHIERT 3R SFIeT & HHI=F 6t J97 JAF 3 AH & 61 57 T B

& dlg, HMEA] Bl SW-YIKAHT & 376X 7l X GIHT |

General Instructions :
(1) The question paper has 30 questions in all. All questions are compulsory.
(i1)) Marks are indicated against each question.

(1it) Questions from serial number 1 to 8 are Very Short Answer Questions. Each question

carries 1 mark.

(iv) Questions from serial number 9to 20 are 3 marks questions. Answers of these questions
should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5§ marks questions. Answers of these

questions should not exceed 100 words each.

(vi) Question number 29 and 30 are map questions of 3 marks each from History and

Geography both. After completion, attach the maps inside your answer-book.
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1. SHad 1871 ® 99 H U Th GHRIE | fohden! ST o1 wye =ifq fopan mamen? 1
Jrar

~

1868 % Whicrd Raree (fagHi =1 fagie) 1 7 3299 1 o1 ?

Who was proclaimed German Emperor in a ceremony held at Versailles in
January 1871 ?

OR
What was the main aim of the Scholar Revolt of 1868 ?

9. ‘Ter 19 wiie’ oy IR foraml & fow enverrd €2 1

How are ‘Gobar gas plants’ beneficial to the farmers ?

3. IgULHE HHUfTl STI ST a0 HREM 3 &3 § = Tnfid Rt § e 3e 9™ 1
T 7 GETE 9&! e €2
Why do MNCs set up their offices and factories in those regions where they get
cheap labour and other resources ?

4. afc =R gR SuE 1 S eifd TEE TS €, @ TR Sude iR & etmia 1
T THEM I AR o fTT ITHTRT AT ST Hohell © ?

If any damage is done to a consumer by a trader, under which consumer right

one can move to consumer court to get compensation.

5. <o GHEl SR USHIfdeh Tall H Teoh ST<R TI HIfo(T | 1

Distinguish between pressure groups and political parties by stating any one
point of distinction.

6. WNd 3 SgIald YUITCHl hl SRl STIATT? 1

Why did India adopt multi-party system ?

7. o TR & <1 fed @@l & A fafey | Yot2s=1

Name any two sectional interest groups.
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10.

11.

12.

13.

14.

32/2

o 9§ k01 & STl Edl % faar Y Hedl SAreedehdl Sl Tk qeh SRt 1
o FifsT

Prove with an argument that there is a great need to expand formal sources of
credit in rural India.

“ TSR H SusTeRTST! T et o o frem TR fafeml &1 stmervasha et 8171 39

HIT i AEd ST | 3x1=3

“Rules and regulations are required for the protection of the consumers in the
market place.” Justify the statement with arguments.

STHfed TaTe g 91 § 2 Ih! 1 JUTEH! 1 U HIfST | 1+2=3

What are public interest pressure groups ? Describe their functioning.

& TerHifaer ISt 9 o= AR 82 & UeiHifaes 91et’ it Al W i
& fou sTavaes Il o1 Seeid hifey | 1+2=3

What is meant by regional political party ? State the conditions required to be

recognised as a ‘regional political party’.

qRd H frEnfies faenrd & R Scael qaferuia et sl A il & fau g
T 3T e | 3x1=3

Suggest any three steps to minimise the environmental degradation caused by

the industrial development in India.

"R H ol ok At TR T ST 9 WIR | HSl bl 9d SR ol o foehd &
G II9oid A ! faehfEd T &l G Savaesd ¢ | $9 Soadid G & R
% T FE 9 SU YIET 3R 3% T HifaT | 3x1=3

‘Consumption of energy in all forms has been rising all over the country. There

is an urgent need to develop a sustainable path of energy development and
energy saving’. Suggest and explain any three measures to solve this burning
problem.

el U & B o AR T &M h! SMhd HItaT | F Toh g 9 hd P €2

Classify industries on the basis of source of raw material. How are they different

from each other ? 1+2=3
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15.

16.

17.

18.

19.

20.

32/2

“orom B ST HTEd Rl AR et % fereRl ok et & aR # erget e 3
STAYROM off I’ Teh T HYA Tl I HiTIT |

“The plantation workers in Assam had their own understanding of Mahatma
Gandhi and the notion of Swaraj”. Support the statement with arguments.

S B Teel sTidier’ % SRM fohd YRR w1 3vel TAR fha e e ? gt g
ferererdati shl Tote HifST | 1+2=3

What type of flag was designed during the ‘Swadeshi Movement’ in Bengal ?
Explain its main features.

TR FTHTTSTR Tafaeranedi # Tmere Tnfud siai e |’ 3Sevl Uigd SH HITH1 3

qfte Hifsr |

“Democracy accommodates social diversities. Support the statement with
examples.

IS0 Y TR KT o IgUeea wrafar oo Searei o1 R fafm adani @ 3
FLE T

Explain by giving examples that Multinational Corporations (MNCs) are
spreading their productions in different ways.

‘farme o T kw1 &t oTat faftre yferr g1 ol 9fed 39 oA o1 =mEfea 3
ERAE

‘Credit has its own unique role for development’. Justify the statement with

arguments.
* 1830 1 U1 JAT B 9IRI 3Mfefer wicreal ot '’ | qent Ufed %A &t gfte
TSIl | 3x1=3

areran
"2 = T et 9 ol & favg e | fomafiEl & fag anvs fag

g3 TRl Afgd A &t gfe Fife |
“The decade of 1830 had brought great economic hardship in Europe”. Support

the statement with arguments.

OR
“The Ho Chi Minh Trail became advantageous to Vietnamese in the war against
U.S.” Support the statement with arguments.
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21.

22.

23.

24.

25.

26.
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TR STefeqa®e T AYeihiol & FTEl oh1 3STeLon 9fed Jui shifsd |

Describe the impact of globalisation on Indian economy with examples.

5x1=5

TRt el 3 9t STRich1sl & st Wioma STedl S sl SRl P& Fi fha? 5
TR HITST |

Why did Mahatma Gandhi relaunch the Civil Disobedience Movement with
great apprehension ? Explain.

TR ¥ Hesh TReed & gue Sufked fr=l ol @ gt & o Sifey | 5
Explain any five major problems faced by road transport in India.

=i &seh o 01l i fhe YR e Tl 3TR Higl & T aveit s

ST HHhd1 €2 IS Ui U G | 1+2+2=5
How can the formal sector loans be made beneficial for poor farmers and
workers ? Suggest any five measures.

TSHIfd Tl i U & foIT 18 Ui SUTE GEsT 31’ ST S hifsT | 5
Suggest and explain any five measures to reform political parties.

i | AT 3 IS i T fRar o1 TR Wt & § 38 shifae i
gl &1 wuee foea a8 O e sifyss TeheTd $iR F3ra a9 Wk | Ton!
afed 39 e w1 fagedwor sifsg | 5x1=5

3AAT
“fSar ® =t i< arateti 3 faardam 1 favsa fean fSae aRomesy w2t

e~

HEASAT i @l 7 faIa ™ %l 45 &5 | 9¢d fea11’’ ol |igd 36 R H
forgeraon sRifsT |

“Napoleon had destroyed democracy in France but in the administrative field

he had incorporated revolutionary principles in order to make the whole system
more rational and efficient.” Analyse the statement with arguments.

OR
“The peace negotiations in Geneva followed the division of Vietnam that set in
motion a series of events that turned Vietnam into a battle field.” Analyse the
statement with arguments.
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27. 9RA H Te& qRee o1+t ¥t Yo ufesd &t eran stfus glausmes 1" awi |fed
T HYF H gHYT i | 5x1=5

“Roadways still have an edge over railways in India.” Support the statement
with arguments.

28. ‘‘crhdd & foru UsHIfaw <l 1 BT STavae Od © 1 39 A 1 Seel dfed
favero ST | 5x1=5

“Political parties are a necessary condition for a democracy”. Analyse the
statement with examples.

29. T AL A, B 3R C 9Ra & U T4 qeiifaes W@-aHfes (753 9 W), H 3ifeha fhu
TR 3 A i e SRRl w1 geEdar 9 ggey i S el AW
qHfas | Gl 73 w@net W fafau . 3x1=3

A, T IH ST gt vl e Aergdl 3 e fwe o
B. 9% ¥M S STHEAN G a9d o ¥ I T

C. U TIM Wl YRdTT TS hidg 1 STee gar o |

Three features A, B and C are marked on the given political outline map of
India (on page 9). Identify these features with the help of the following
information and write their correct names on the lines marked in the map :

A. The place where cotton mill workers organised Satyagraha.
B. The place related to the calling off the Non-Cooperation Movement.

C. The place where the Indian National Congress Session was held.
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e Trefafed e Faa gfeanfer gienfefar & fau ue 9@ 29 % WH W E
(29.1) 39 TR %1 M fafen, swl gdt wuer fae Teiel ¥ gemre fwan o)
(29.2)  SAHEAN TSI i A9 o1 § GEHd TIH o1 A1 fafaw |
29.3)  ToEmR 1920 H IRAA I HIUT T ARIAYA Fel g o1 ?

Note :  The following questions are for the Visually Impaired Candidates only
in lieu of Q.No. 29 :

(29.1) Name the city where cotton mill workers organised Satyagraha.
(29.2) Name the place related to the calling off the Non-Cooperation
Movement.

(29.3) Where was the Indian National Congress Session held in
December 1920 ?

aWa o

30. WRd % fou Tu qerifaes T@-wmfas (753 11 W), | f=fafaa <01 suge fai |
TNET 3R 3 A fafau . 3x1=3
A, dd &7 - femag

B. el 9 399 99 - e

C. YHE 9§l U7 - hife

On the given political outline map of India (on page 11), locate and label the
following with appropriate symbols :

A. Oil Field - Digboi

B. Iron and Steel Plant - Bhilai

C. Major Sea Port - Kochi

Tie:  fAfared Yo haa gleantd qignfefar & fau 391 9 &1 30 h H W E
(30.1)  femerE 9o & fve Tog H e €2
(30.2) U A o1 W fafay, Sl fens @ iR 5o "o feud g1

(30.3) WA o Y&l d¢ W feerd Hord <farofl @ "t ge o1 914 fafeu |
Note :  The following questions are for the Visually Impaired Candidates only
in lieu of Q.No. 30 :
(30.1) In which state is Digboi oil field located ?
(30.2) Name the state where Bhilai Iron and Steel Plant is located.
(30.3) Name the Southernmost major sea port located on the eastern
coast of India.
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T usHE 29 fam For question no. 29
|
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=8

TS 9. 30 % for For question no. 30

WA T Y@T-HHeT ( SIS )
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